INSTALLATION INSTRUCTION
ITEM NO:4502
APPLICATION:Dodge Ram 1500—Quad Cab 98-01

( ATTENTION )

1. Please read this installation instruction before installing this
part. When install it,please pay attention to protecting your vehicles.

2. When you use it,please check this parts at a fix time—lapse, such

as one month or two month.

_ PARTS LIST )

No. Name Photo | Qty | Remarks | No. Name Photo | Qty | Remarks
Front Mount J lateral M10%*35
H 2”7
A Bracket / 2 symmetry T" Bolt § 1 (55%15%3. 0)
Real” Mount 2 lateral I
B Bracket symmetry flat washer 12 M10
¢ | Dupport 4 @@@ M10
Bracket J Lock washer 8
N
%
120
E flat washer 4 M12 I, T” Bolt N 4
F Lock washer @ 4 M12 M flat washer 16 M6
G Hex Bolt @ﬁﬁﬁﬁ@) 4 M10x30 N LOCK NUT 16 M6
N J




' S

= ¢
& I J K FIGURE 2
She FIGURA 2
M FRONT PASSENGER SHOWN
ANFRA ACOMPARANTE DELANTERD
PASSAGER DEVANT

r-r‘ 5
L ________;_______
G j FIGURA 3

REAR PASSENGER SHOWHN
ACOMPARNANTE TRASERD
PASSAGER DERRIERE

REFERENCE ONLY FIGURE 5
FIGURE4 REFERENCIA SOLOAMENTEMT. L FIGURA 5

FIGURA 4 REFEREMNCE SEULEMENT

(INSTALLATION STEPS )
STEP 1:Check the parts in the box carfully if match above parts list .

STEP 2:Pls prepare the tools for installation, follow as:12-14wrench, 17-19wrench.

STEP 3:Put the Front mount bracket A and Rear mount bracket B into, SupportBracket C
the girder of the car,and tighten it with DEF and GHI J K.

STEP 4:Install the Side Step on the mount bracket A and the mount bracket B,with L M N.
STEP 5:Test and make sure that the Side Step is steadily fixed.

STEP 6:Installation is finished.

Learn more about other running boards and step bars by Aries on our website.



https://www.carid.com/running-boards.html
https://www.carid.com/aries-automotive/

	Пустая страница



